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1 Which of the following will lead to a leftward shift in the demand for cars?

A A rise in the price of cars
B A fall in the price of public transport
C A fall in car insurance premiums
D A rise in consumers’ incomes.
[172]
2 Which one of the following is NOT a feature of a capitalist economy?
A The use of the price mechanism to solve the question of what to produce
B A minimal role for government
C State ownership of the most important industries and private ownership of the
other industries
D Freedom of entry and exit into various industries.
[172]
3 The maximum an economy can produce is either 20 units of Good X or 80 units of

Good Y, and its production possibility curve is a straight line. The opportunity cost of
producing 5 units of Good X is:

A 1/4 of a unit of Good Y.
B 4 units of Good Y.

C 10 units of Good Y.

D 20 units of Good Y.

[17]

4 Good X is a normal good. Which of the following will NOT shift the demand curve

for Good X to the left?
A A fall in consumers’ incomes
B A rise in the price of Good X
C A fall in the price of a substitute Good Y
D A rise in the price of a complementary Good Y.
[172]
5 Which one of the following will shift the supply curve for Good X to the left?
A An increase in labour productivity in the production of Good X
B A fall in price of inputs used to produce Good X
C An increase in real wages for workers producing Good X
D A government subsidy on the production of Good X.
[172]
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6 Good Y has a cross elasticity of demand with respect to Good X of 0.8, and 200 units
of Good Y are demanded when Good X costs £1. A rise in the price of Good X to
£1.10 will change the demand for Good Y to approximately:

A 208 units.
B 216 units.
C 75 units.
D 50 units.
[1%4]
7 A consumer has £200 of income, which is spent entirely on two goods, Good X and
Good Y. Good X costs £40 per unit and Good Y costs £40 per unit.
The relevant marginal utilities for the consumer are:
Good X Good Y
Quantity ) e Quantity . e
(in units) Marginal utility (in units) Marginal utility

1 100 1 70

2 80 2 50

3 50 3 40

4 25 4 30

5 10 5 20
The optimum combination of units of Good X and Good Y for the consumer to
purchase is:
A one unit of Good X and four units of Good Y.
B two units of Good X and three units of Good Y.
C three units of Good X and two units of Good Y.
D four units of Good X and one unit of Good Y.

[172]
8 A consumer has been consuming Good X, which previously had a positive marginal

utility, to the point that the consumer now has a zero marginal utility and Good X is a
free good. This means that the:

A consumer has reached a point of equilibrium with respect to the consumption
of Good X.
B consumer is consuming too much of Good X and should decrease their
consumption to obtain positive marginal utility.
C consumer can increase their total utility by reducing consumption of Good X.
D total utility from consuming Good X must be zero.
[172]
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11

12

During the winter, a profit maximising hotel in a seaside resort should close when
average revenue is below:

A average variable cost.
B average fixed cost.
C marginal cost.
D average total cost.
[172]
Which one of the following is NOT a feature of monopolistic competition?
A In the long run, firms make only normal profits.
B Price is equal to marginal cost.
C Price is equal to average revenue.
D An individual firm can raise its price without losing all its customers.
[172]
Which one of the following statements about market structure is TRUE?
A Under monopolistic competition, in the long run, all firms make only normal
profits.
B Firms under monopolistic competition produce homogeneous products.
C Under oligopoly, firms make decisions without considering the possible
reactions of their competitors.
D Under monopoly, a profit maximising firm with positive marginal costs
always produces where the demand is price inelastic.
[172]

Two firms operate in a duopoly, but do not collude. Given the profit pay-off matrix of
output options to Firms A and B below, what is the dominant strategy for the firms?

Firm B
High Low
. High (60,60) (20, 90)
Firm A ow (90,20) (40, 40)

[Note: Profit pay-offs are ‘(profit A, profit B)’, and ‘high’ and ‘low’ refer to the price
decision of the firms.]

Firm A — High; Firm B — Low
Firm A — High; Firm B — High
Firm A — Low; Firm B — Low

Firm A — Low; Firm B — High.

oaw>

[17]
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16

A firm operates in two markets, Market 1 and Market 2, and price discriminates when
profit maximising. In such circumstances, its marginal revenue in Market 1 is equal to
the:

price in Market 2.

price in Market 1.

marginal revenue in Market 2.
average cost in Market 2.

gaw»

[172]
In a simple closed economy with no government sector, the consumption function
relating consumption (C) to income (Y) is given by the expression:
C=£80 million+0.75Y
Planned investment is constant at £50 million.

Which of the following is TRUE?

A The investment multiplier has a value of 5.
B At the equilibrium level of income, consumption will be £470 million.
C The economy is in equilibrium if output is £500 million.
D None of the above.
[172]
Which of the following is most likely to lead to a rise in aggregate demand?
A An increase in the income tax rate
B A decrease in government expenditure
C A decrease in the value of exports
D A decrease in the rate of interest.
[172]

The following transactions take place in a simple closed economy. A company
producing Good X sells its output for £2 million. In producing Good X, the company
buys raw materials for £800,000, uses £200,000 worth of electricity and has labour
costs of £400,000. What is the contribution of the company to the country’s Gross
Domestic Product (GDP)?

A £2,000,000
B £800,000
C £600,000
D £300,000.

[17]
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17 The marginal propensity to consume is 0.8, the rate of income tax is 25% of all

income

and government expenditure is £50 million. Which one of the following

statements is TRUE?

A
B
C

18 The fol

The simple closed economy multiplier, ignoring taxes, is 2.

The simple closed economy multiplier, including taxes, is 5.

An increase in government expenditure of £10 million will increase the
national income by £25 million.

An increase in government expenditure of £10 million will increase the
national income by £10 million.

[172]
lowing table contains output and expenditure data for an economy:
£billions
Consumption (at market prices) 300
Investment (at market prices) 80
Government spending (at market prices) 85
Net exports (at market prices) —-10
Net income from abroad 5
Indirect taxes 60

GDP at basic prices and gross national income at market prices are respectively (in

£billions):

A 395, 400.
B 395, 390.
C 455, 460.
D 455, 450.

[17]

19  Ifnominal GDP per capita is £30,000 and the GDP deflator is 150, then real GDP is
(given the base year index of 100):

A

B
C
D

20  Which

oaw>
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£45,000.
£30,150.
£29,850.
£20,000.
[17]

one of the following does NOT form part of the UK GDP:

Investment income from abroad
Investment expenditure
Export revenue

Government expenditure on employing teachers.
[172]



21

22

23

24

In a closed economy with no government, planned consumption is £140 million,
planned investment is £70 million and total production is £240 million. Actual
investment is:

A £40 million.
B £60 million.
C £80 million.
D £100 million.

[172]

If a household’s income increases from £20,000 to £25,000 and, as a result,
consumption increases from £17,000 to £21,000, what is the household’s marginal
propensity to save?

A 0.8
B Greater than 0.8
C 0.2
D Less than 0.2
[172]
Given the following aggregate data for Country A, what is the value of leakages
(withdrawals) into the circular flow of income?
(£billions)

Consumption expenditure 300

Tax revenue 200

Exports 200

Imports 150

Government expenditure 250

Investment expenditure 100

Savings 200
A £500 billion
B £550 billion
C £600 billion
D £700 billion.

[172]

If the real rate of interest is 5% and the expected inflation rate is 4%, then the nominal
rate of interest is approximately:

A 1%.

B 1.25%.
C 9%.

D 13%.

[17]

CB2 A2022-7



25

26

27

28

29

30

The minimum wage is currently above the equilibrium wage. Which one of the
following policies will increase voluntary unemployment?

A A reduction in unemployment benefit
B Better dissemination of information about job vacancies
C An extension of job retraining programmes
D A reduction in the minimum wage.
[172]
The conventional Phillips curve indicates that the authorities face a:
A negative relationship between inflation and economic growth.
B positive relationship between inflation and economic growth.
C negative relationship between inflation and unemployment.
D positive relationship between inflation and unemployment.
[17]

Assess the importance of price elasticity of demand when a government is considering
whether to add a unit tax to chocolate bars to generate government revenue. [5]

Discuss, with the use of an example, why when the overall market is small in size,
small firms can remain profitable despite not having economies of scale to compete

against larger firms. [5]
(1) Outline, with the use of examples, the differences between merit goods and
private goods. [3]

(11) State how these differences may affect the source of provision of the goods in

part (i). [2]
[Total 5]

Explain, with reference to appropriate behavioural economics concepts, how
consumers may make practical decisions when booking a hotel room for a night,
which may differ from those predicted by the mainstream economic theory. [5]
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31 You are given the following data on a simple closed economy:

C = £40 million + 0.75 Yd
1= £30 million

G = £50 million

T'=02Y

where C is consumer expenditure, Y is national income, Yd is disposable national
income, G is government expenditure on goods and services, / is investment
expenditure and 7 is total taxes.

(1)
(ii)

(iii)

(iv)

)

32 ()
(i1)

Calculate the equilibrium level of national income. [1]

Calculate the amount of consumer expenditure at the equilibrium level of
national income. [1]

Calculate the value of the fiscal surplus (+) or deficit (—) at the equilibrium
level of the national income. [1]

Calculate the value of leakages (withdrawals) when the national income is in
equilibrium. [1]

Calculate the increase in the national income if investment expenditure is

increased by £20 million. [1]
[Total 5]
Describe what is meant by the crowding out effect of fiscal policy. [2]
Explain four mechanisms through which crowding out can occur. [4]
[Total 6]

33  Explain the problems governments face in using the monetary policy to raise or lower
aggregate demand. Include reference to ‘liquidity trap’ in your answer. [5]

34  Assume that a government finances its fiscal deficit and national debt by issuing
10-year government bonds.

Explain how a rise in the average rate of interest on 10-year government bonds, from

4% p.a.

35 )

(ii)
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to 6% p.a., may impact both the fiscal deficit and the national debt. [5]

Discuss the relative merits, for users of a public transport service, of the
operator existing as a monopoly rather than being monopolistically
competitive. [5]

Discuss why the cost of exit may influence the type of public transport that

firms may select when entering the public transport market. Your answer

should refer to buses and trams as examples. [5]
[Total 10]



36 (1) Explain the main objectives of macroeconomic policy in an open economy,
together with the reasons governments pursue these objectives. [5]

(11) Discuss the possible conflicts that the authorities may face when using
monetary and fiscal policies to pursue the objectives outlined in part (i). [5]
[Total 10]

END OF PAPER
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